R R RS TR R HRR

— REFRITHEANX
RIS PR=HEHE LR B X B B R AL

. RHERE
ZAAAERY (A% Hik O TR o)
20-44 1498 3595
e
©  FUEfRAEL: 300 JiIT;
@ FEAEREE: FE oA LS 1 T Ies
® HEAEHERF: 15 K.
@ MEAFERH: ay PATCAESEEITARES/ A R ET B AR: 100%; by ISR

B/ BRI SR Gtk R BRTT RIS/ SR BT A AT 100%, REstt 2 BRIT IREG/ 22 9

7 A R4S 50%.

= BRABRY
1y PR e

rbs 48 Choo) RS
(0, 100) (0.7, 0.8)
[100, 200) [0.8, 0.9
[200, 300) [0.9, 1.0
[300, 400) [1.0, 1.1
=400 [1.1, 1.3]

2. SR
Gl dm o) k-
[0, 1] [1.0, 1.3]
(1, 2] [0.7, 1.0
>2 [0.4, 0.7)

GG AU 2 AN ) LB I G A0, P IO G I A < AT 45

3. AL

AL DA BT ORI/ R BT B AR

W LB

LEES

100%

1.0

90%

0.9

80%

0.8

70%

0.7

60%

0.6

50%

0.5




40%

0.4

30%

0.3

20%

0.2

10%

0.1

By DTS BRI ORI/ 2 B BT B R
av At BT ORES /2 SRR T IR IR A LA

JEAST L A

LEES

100%

1.0

90%

80%

70%

60%

50%

40%

30%

20%

10%

olo|ele|ele|ole|e
HIND| Wbk | 3|00 | O

by RS LT RIS/ 2 B BT RIS L]

et AF L A1) R
100% 1.5
90% 1.4
80% 1.3
70% 1.2
60% 1.1
50% 1.0
40% 0.95
30% 0. 90
20% 0.85
10% 0. 80
4. R
XL INCN) k-
[0, 15] [1.00, 1.20]
(15, 30] [0.90, 1.00)
(30, 60] [0.80, 0.90)
(60, 90] [0.60, 0.80)
5. 458/ T A2
2205/ TUHIGA 23 AR
(0, 35%) (0. 45, 0.55)
[35%, 40%) [0. 55, 0.60)

2




[40%, 50%) [0.60, 0.75)
[50%, 65%) [0.75, 1.00)
[65%, 80%] [1.00, 1.25]

>80% (1. 25, 2.00]

6. PR AA UG ) LA

BRI NA TR AR ) LB TR
il 1. 00
XUig 1. 80

“Ha k=R (1.80, 2.50]

7. X BRI A KT

H X BT 26 A KF T RE
Hi X BT 25 A KT R 4T [0.7, 0.9]
Hi X BRI T 2R AR A — 0.9, 1.0]
iy X BT 25 A K (1.0, 1.3]

8+ B =5 JRIE WU i BKT

5 =7 RIE MU KT B R
B CREFRBMBRT 212, WHEARER A 7 HE AL
T 10K, AR BEEFAR, AHOLFERMT], 4] [0.5, 1.0]
IR 47 1) it o T D
— M CREFRTBNT 242, SRR AR HE N T
10 %, kiR WEEFAN, OMSZAEERT], X 1.0, 2.0]
ingitidlEi) =)
MRYEIAE R B Py LB LA R R AL DR N SR G PR TR BUE . X Bl ” R %L
TRIE I 2 AR AER ARG, 45 PRI X “— B0 RERE JRIE T A bR
Z MRtk , 45T ) B

AR AE VL
1. FRBERMC B AERK AR

2. BB AL RE BT, ARG, ZRBHE 10,

3+ IHHE R HUTCK NAUE AN L3 PR R VG A IR, BRSS9 A R PR BV 3 LA
JE o



